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Tyl =1

K<1,1841 =1, 181 < 1 K< 1, 18541 = 1, [Sapl < 1

(a) (b)
Taytl=1 ITayrl =1

K=1, 141 =1, 1841 <1, |Saal =1 K=1,140 =1, 1841 = 1, 1822l =1

(c) (d)

ICoyrl =1
Tourl=1

K=1,141 <1, 18] <1, 18l =1 K=1, 141 =1, 18540 <1, 182l <1
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IFyl =1 Tyl =1

J I'; planae 'y plane
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P|N|—1 H-'__'F-
1841 = 1, 1S5l < 1 1S4 = 1, 1855l = 1
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@) Su = 1/V2Z,81=1/V2 |=180°, 81 = 1/V2,and S» = 1/V2.
(b) 511 = 1/\/_ 2,812 = 1.707, 551 = 1.707, and $» = 1V2.

(€) Suu=1/V2,80=0292 81 =029 and S» = 1/V?2.
(d) S =1,52="V2,85=V2,and S» = 1.
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$11=0.6<-170, $1,=0.3<60, $,1=8*<70,5,,=0.45<-30.
il 25 &y TGHZ LuilS 3 15 Vgs=OV, lgs=1.2A bl e NE8688I8 ,siniils .5
$11=0.42<155, S1,=0.13<-10, S1=2.16<25,52,=0.51<-70.
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